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Fi=UC0)xUC1)+UC3)¥

DRANK (F) ¥

BU/DT = UL3) + UC1)=UC0)
WEIGHY OF U = 2 WEIGHT OF DX = 1

RANK OF UT = 5

FOR I:=2 STEP 2 UNTIL 10 DO CONSDC(F,I)¥

+++ CONSERVED DENSITY OF RANK(2) +++

TC:D. = U(d) |

‘ ++; CdNSERVED diSIfV OF RANK(4) +++
- ) 2
C.D. = U<

+++ CONSERVED DENSITY OF'RANK(6) te

. 2 3
C.D. = = 3sUC1) + UCO)

+++ CONSERVED DENSITY OF RANK(8). +++

. 2 4
C.D. = = 36%xUC3)#UC1) - 80%UCY) #UCO) + 5sUCO)

+#++ CONSERVED DENSITY OF RANK(10) +++

. 2 2
C.D. = - 108*UC5I*UCT) - 252%UC3D#UCII=UCO) - 210%UC1) »UCO) + 7

-
=yd<o)
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% EXAMPLE 2. : THE FIFTHE ORDER K-DV TYPE EQUATION ;

D F3=UCS)+45xUC0 x#2xUC1)+15x (UCOI*UC3)+AXUCTI)*UC2) ) ¥

DRANK(F)¥
AR IR

. 2
DU/DT = UC5) + 15%UC3)%UCO) + 15%UC2)%UCII*A + 45%UC1)%UCO)
WEIGHT OF U = 2 WEIGHT OF DX = 1

RANK OF UT = 7

CONSD(F,86)%

FOLLOWING CONDITION IS EXCEPTED :
30%¢ - 2%A + 1)=0
FOLLOWING CONDITION IS EXCEPTED :
: 2
270%(2%A - 7*A + 5)=0

THERE IS NO CONSERVED DINSITY OF RANK(6D
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% A=1/2 :

FA:=SUB(A=1/2,F);

2
FA 3= (2%U(5) + 30#UC3X*UC0) + 15%UC2>%UC1) + 90*UC13=UC0) /2

DRANK CFAD ¥

TR —

, ' _ 2
DU/DT = (2%UC(5) + 30+UC3)*UCO) + 15%UC2)*UC1) + 90xUC1dI%UC0) >/2

WEIGHT OF U = 2 WEIGHT OF DX = 1

RANK OF UT- =7

FOR I:=6 STEP 2 UNTIL 10 DO CONSD(FA,I)¥

THERE IS NO CONSERVED DINSITY OF RANK(6D
THERE IS NO CONSERVED DINSITY OF RANK(8)

THERE IS NO- CONSERVED DINSITY OF RANKC(10J

% A=1 t THE SAWADA-KOTERA EQUATION 3

FS:=SUBC(A=1,F)3

. 2
FS := UC5) + 15%UC3)*UC0) + 15xUC2Y*UC1) + 45+UC1)*UCO)

DRANKC(FS) ¥

2
DU/DT = U(5) + 15#UC33#UC0) + 15%xU(23=UCT) + £5xUC1%UC0)

WEIGHT OF U = 2 WEIGHT OF DX =1

RANK OF UT = 7

FOR I:=6 STEP 2 UNTIL 10 DO CONSD(FS,I)¥

+++ CONSERVED DENSITY OF RANK(8) +++

2 3
C.D. = = UK + U

+++ CONSERVED DENSITY OF RANK(8) +++



2 ' 4
C.D. = = UC3dxUC1) - 9%UC1)> *UCO> + 3%xUCOD

THERE IS NO CONSERVED DINSITY OF RANKC10)

% A=5/2 : THE KAUP EQUATION :

FK:=SUBCA=5/2,F)3

: ‘ . 2
FK ¢= (2%U(5) + 30%UC3>*UC0) + 75xUC2I*UC1)> + 90%xUC1)=UC0d> >/2

DRANK(FKY ¥

. . 2
DU/DT = (2xU(5)> + 30xUC(3>=UC0> + 75xUC22=UC1> + 90xUC1d=UC0) >/2

WEIGHT OF U = 2 WEIGHT OF DX = 1
RANK OF UT = 7

FOR I:=6 STEP 2 UNTIL 10 DO CONSDC(FK,I)¥

+++ CONSERVED DENSITY OF RANK(§) +++

2 3
C.D. = =~ UC1) + 4*UC0>

+++ CONSERVED DENSITY OF RANK(8) +++

. 2 4
C.D. = = UC3DxUC1) - 18xUC1)> *=UC0) + 12%UC0)

THERE IS NO CONSERVED DINSITY OF RANK(10)
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% EXAMPLE 3.

Fe=UC0)*#3xU(3)+3xUCO)»x*2x%UC1)%xCUC2)+1)%

DRANKC(F)>¥

2
DU/DT = UCO0) *CUC3I=UCO) + 3xUC2)*UC1) + 3%UC1))

WEIGHT OF U-= 2 WEIGHT OF DX = -1
RANK OF UT = 5
USE THE COMMAND <CONSD2> TO FIND CONSERVED DENSITIES

FOR THIS EQUATION

CONSD2(F,2,1)%

+++ CONSERVED DENSITY OF RANK(2) +++
C.D. = U

CONSD2(F,4,3)>%

+++ CONSERVED DENSITY OF RANK(4) +++

. 2
C.D. = UCOI*CUCTY =~ 2%UC0))

CONSD2(F,6,5)¥%

+++ CONSERVED DENSITY OF RANK(6) +++

2 2 2
C.D. = UCO) *(2xUC3I*UC1I*UCO) + S5%UC2y*UC1) + 20%UC1) - 10%=UC0O)

)



